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Partial fraction of .
(x+1D{x
(A) 4 & Bx+c (B)
x+1 x22=1 x+1  (x+

Arithmetic mean between a and b is

2 ®) +ab
If a,=(-1)" (2n-3) Then as=
(A) 7 (B) -7
Multiplicative inverse of —i 1s
(A) i (B) —i
Tabular form of {x|xe EA4<x<6} is
A) {} B) {4}

1 2 -2]
If 4={0 0 .6 | then Axz=

6 7 4
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A matrix of order /% 1s called

(A) Row mattix

If onéwoot of equation x” + px+¢q =0 is additive inverse of other, then

(A)p=-1 B)p=0
If @ is cube root of unity, then @+ &’ =
(A) 0 (B) -1

(B) Column matrix

$60-62-2 |

will be of the.form
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10) In any Triangle ABC, with usual notation,

(A) = (B) B-7

tan =~ tan

11) Value of sec (sin”l l?J =

1
(A) 5 (B) 2

12)If Sin x = Cos x then x =

(A) 45° (B) 30°
13) G.M between 2 and 8; equals
(A) +4 B)5i

14) For independent events P (4 B)=
(A) P(A)+P(B) (B) P(4)-P(B)
15) Expansion of (1-2x)” is valid, if

(A) | x]<1 @ENIEV,

16) Cot’§—Cosec’ f =
(A) 1 (B) -1
17) Cos(-60%) =

1 1
v B) ==
(A9 8 (B) 2
18)Cos2 o =
(A) 28in’¢ -1 (B) 2Cos’ -1

19) Period of Cot 8 x is

(A) 8z ®) =
8

20) Cot £ =
2

. s(s-c¢) 1 s(s~a)
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Mathematics (Subjective) (Session 2017-19 to 2020-22) Paper (1)
Time Allowed: 2.30 hours (Inter Part - 1) Group II Maximum Marks: 80
Section ~-----—-emm-mmme I
Z: Answer briefly any Eight parts from the followings:- 8 x2=16

560- 42-21

()  Find the multiplicative inverse of (-4, 7) (i) Show that Vz,,2,eC, z,+z, =21+ 2>

(iif) Find the difference of the complex numbers (8 , 9) and (5 , -6)
(iv) Show that the statement (pA q)—> p is a tautology (v) If A={a, {b, c}}, then find P(A).

(vi)  Write the set builder notation of the set. f0,£1,42,.. % 1000}

2] [-1
(vii) Find the matrix X if: x{ . }:[ 5]

=2 1 12 3
lavl @& [+ 4 3
(viii) Showthat| a a+! =I’Ga+1) (ix) IfA=|7 3 6| s Singular. Find the value of 1
a a aiM ¥ . 12 3 1]
__da8 RS- | ﬁ B P e
(x) Evaluate (1+o—@*) j ij &

(xi) Find the roots of the equation: 16 X +8x+1=0 l;)'r psing Quadratic formula.

(i) By using remainder theorem, find the remaindér when the polynomial x* +3x+7 is divided by x+1

3. Answer briefly any Eight parts from the followings:- 8 x2=16

) Resolve into Partial Fractiods, — 1
x -

9

(i) Write into Partial fraetions without finding the constants —————
(x+2)* (x-1)
@iii)  Find the indigAtedterm of the following'sequence 1,-3,5,-7,9,-11, .......... , a5,

(iv)  If thenth tetm of the AP is 3n-1, find arithmetic progression.

(v)  Finddhe 12th term of the geometric sequence 1+i,2i,-2+2i ,-------

(Vi) If the numbers l 1 1

i and are in harmonic sequence, find k.
k 2k+1 4k ~1

(viiy Evaluate ' p,. (viii) Inhow many ways can a necklace of 8 beads of different colours be made?

(ix) Find the value of n, when "C, ="C, (x) Calculate by means of binomial theorem (0.97)°

(xi)  Expand up to 3 terms (1 - x)2

(xii) Ifxisso small that its square and higher powers be neglected, then show that (IU 4 +;§ ~2+ ~24ix
=X
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4, Answer briefly any Nine parts from the followings:- 9 x2=18
(i) Convert 54° 45’ into radians
)  Verify an3[£]+8:‘n‘(f-J+tanz(£J 2
6 3 4
(i)  Prove that cos* @ —sin* @ —cos’ @ —sin’ @ VO e R.
(iv)  Without using tables write down the value of cos315°
. o sin A+sin 24
Prove that tan (45 + A)tan (45 — 4)=1 (vi) Prove that =tan 4
\Y rove T ( )tan ( ) v 1+cos A+ Cos2 A
(vii)  Find the period of 3 cos (?} (viii) Find the value of Cot 899’
(ix)  Find the area of A 4BC having a= 200, b=120, y =150°
(x) In AABC if a=13,b=14,¢ =15 find R
: - 1
(xi)  Show that sin ' (-x)= -sin ' (x) (xii) Solve the equation sinf :5
- %
(xiii) Find the solutions of sinx = "5:{ which lie in [0, 27]
Section -~r----—- =11
Note: Attempt any three guestions. ) (16 x 3=230)
F+x, -x, =-4
5. (a) Use cramer’s rule to solve the systemgof Bquatios x, +x, - 2x, = -4
=% +2x; —x, =1
’ Use synthetic division to find the values"f p and q if x+1 and x-2 are the factors of the
(b) polynomial x* + px* +.gwe 6
6. (a) Resolve into Partial fractions _—?—x-:-—i——
(x" +)(x+3)
(b) Ifthe (positive) Geomeéfric Mean and Harmonic Mean between two numbers are 4 and
% , find the kumbers.
7. (a) Proy€that®C, +"C, ="C,
= 10
(b) \¥ind 6th term in the expansion of [xz - En}
X
5. (a) If sinf = -:/% and the terminal arm of angle is not in quad. III Find the values of remaining
trigonometric functions.
(b) Prove that ABnPemag =tan2@tan 6
cosd +cos36
9. (a) Provethatr=4R Sin—gE S:'n—iz S‘z‘n% (b) Prove that 2tan “%Han”%:%
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